Install manual

Steam bathroom

MODEL: WS-608P

www.eaqglebath.com

© No advanced advice will be submit before we change our design and size. C en us
Ligy
© Thepicturesmay be alittledifferent fromthereal products. T
Intertek
© Our company keep thefinal explanation right. 177783



http://www.itrading

SANITAR Y [WARE |

Dear Guest,

Thank you very much for purchasing our sanitary ware.
To enable you to use this product safely and effectively,
please read this installation and operation manual carefully
before use.

(O CAUTIONS

1.Please ensurethat the product installed reliabl e el ectric |eakage
protection device, the power plug containsearth line, and make
sureitisreliable earth line. Check the protect system of |leakage
protection each time before use.

2.Do not turn on water pump, heat pump or air bubble pump
without water.

3.Beforeturn on water pump, check if thewater level over jets 10
to 20 mm or not, make sureregular usage of water pump
otherwise it will be destroy because of water | eakage.
4.Peoplewith Hypertension symptom, after drink or heart disease
are not allowed to use the bathtub. Children have a bath must
under adult's guidance.

5.During use please noticed that don't blocked the jets and
avoiding the air adjustment valve overflowing. Also keep the
bathtub clean and don't et it blocked by hair or mess.

6.During use, please firstly adjust the water temperature or it will
be burned.

7.The bathtub is designed with ergonomic, rise and fall changes
are quite big so during usage pay more attention of be slipped.
8.Please shut down the system when not to use.

(O TECHNIQUE PARAMETER

Water Power of

steam
Volatge generator

Power of Power of Power of Storage Storage

Voltage | Frequency water pump | heat pump air pump capacity capacity

Ac 110 V(#10%) 60Hz 0.1~0.2Mpa 2.65KW 1.2HP 1KW 0.2KW 48gallon 0.22m*

CAUTIONS: Heat pump and air bubble pump is optional purchase.

WS-608P

SANITARY
Self-clean system
Step1 [ Step 2 ]
N
Step 3

Step 4

/il i

Cleaning method :

1.Clean the steam engine regularly at least once by every 2weeks
or after using 20 times.

2.Inject citric acid as main cleaning liquid,add 1.5L each
time.after 10 minutes, turn on and When the system turns on,
press‘[ # | ”button to start the steam function for about 30seconds
and then shut down the system.After vent the stagnant
water,repeat 2 or 3 times.

3.CAUTION: The system must be shut down before injecting

ws-608P IR



SANITAR Y [WARE |

Packing list

three pieces of ABS board, two pieces of sliding glass

Packing 1 door,two pieces of fixed glassdoor.
one tray,one roof, two pieces of up and down bended
aluminum column, two pieces of deluxe shower holding
] bar, one set of foot massage, one piece of steam pipewith
Packing 2 plastic pad.

Spare partslist

two pieces of “T” shaped pillow,one piece of remote
control ,two pieces of round shaped handle,one piece of
drainage cover, four pieces of plastic seal for the post,two
sets of handle 22, two sets of shower,M6*25
screw(1),M6*35 screw(2),ST4*16 screw(3),ST4*25
screw(4),ST4*12 screw(5), M5*25 screw(6)
,oneinstruction.

SCREW (1) | M6x25 (Qro-B— 18pcs
SCREW (2) | M6x30 Qe E— 10pcs
SCREW (3) | St4x35 (e 4pcs
SCREW (4) | ST4x25 G 48pcs
SCREW (5) | St4x20 s 8pcs
SCREW (6) | M4X20 (oo 4pcs

B S \l
M

SANITARY [ WARE ]

() CONSTRUCTION SKETCH

17

18

19
20

1. bodyroof

2. movable shower
3. exhaust fan

4. decorated lamp
5. function switch
6. cold/hot water
switch

7. towel handrail
8. nozzle

9. steam room body
10, toplamp
11, topshower

12, movable shower 16
handrails with glass

13, control panel
14, temperature sensor
15, decorated lamp

16,
17,
18,
19,
20,
21,

21

handrail
soap box
foot massage
nozzle

Steam outlet box

bottom bathtub

WS-608P

02



SANITARY[WARE ]

1.
2.

7

7/ 7/

~N o o1 W
7/

7

O INSTALLATION SKETCH

waterfall

drainage switch
water pump swich

air adjuster
recycle net

water jet(6PC)

drainage

2250

600

n0a
[Tl
w0
w0
[y

Size:1600X1600X2250mm
637X63”X88.6”

03

WS-608P

1250(49.2" )

")
150(59

© Cold
Hot water

The socket
of power

ater pipe
pipe

1000(39" )

O ATTENTION

1.Inorder to betripped and fell down, pay more attention when get into the
steam room. Please don't shut the finger inthe door in order to be hurt.
2.Inorder to avoid damaging the surface of products please do not use hardness
and sharpnesstool to curvethe products.

3.Inorder to coursefire, no smoking inside the bathroom.

4.thejets of steam and drainage pipe both are high temperature when products
working, inorder to be hurt please be careful .

5.Inorder to betripped and fell down please keep clear of the bathtub after
taking shower each time.

6.1t will beleakingif the glass glue plastic sheet be off then please add some
more for recover.

7.1f there are marks of water please clear with soft cloth and toothpaste.
8.Inorder to be blocked of drainage device please keep clean of the surface of
bathtub.

9.Please do not hang up heavy things on the steam room or the handl e of steam
room.

10.Please deal with the productsaccording to thelocal lawswhenitisno
longer be use.

11.Any request please contact with local dealer.

(O ATTENTION FOR USAGE

1. check if power and cold/hot water switch be turn on or be turn off each time before
use this product.

2. check if power of electronic leakage device be get through or not.

Checking way:

Press testing button, light of power be off, press button of restart then light of power
be on.lt is not being what mentioned above after operated step by step,then that
shows the electronic protection device out off control or there is something wrong
with the electronic leakage device,so should ask professional to check and maintain
the product.

3. Turn off the main power of control panel after stop usage. The plug of power should
be pull out because only turn off all the functions of control panel that is not stop the
power.

4., People with hypertension or drunk are not allowed to have sauna steam bath.

5, Children should have sauna steam bath under adult's instruction.

6. Please don't shut the finger in the door in order to be hurt when get into the steam
room.

7. In order to be tripped and fell down, pay more attention when get into the steam
room.

8. keep clean of the tray in order to be tripped and fell down.

9. Pay attention to the steam sprayer and water tank drainage, they are in high

temperature while working. WS-608P

SANITAR Y [WARE |

14



SANITARY [ WARE ] SANIT AR Y [WARE |
Attention: O INSTALLATION PROCESS

The machine must be fixed in the circuit which protected
by creepage protectionand should be well-connected with the
ground. Nontechnical people can not be fixed or removed at
random.

6. Technical parameter

Model Voltage Current Power protecting slectrityind Waterproof Grade
KL-824 110V 25A 2650W I Ip4
Toplight| Sidelight| Fan Waterinlet valve|water drain valve

20W 5W 3.5W 6W W

AC12V AC12V DC12Vv DC12V DC12Vv

1Assembly of tray STEP1

IT the ground is not smooth,
please adjust the nail under the
tray to keep the balance of the
tray and ground. The steam pipe is
in the package box.

2 Pls. Lock the aluminum [
columns on acrylic panel left -
side & right side per ready 0

screw holes by factory. -

o o oo
P T
s o EREE

e > @

STEP2 |°|- S

8 Ws-608P ’ ws-608P [




SANITAR Y [WARE]

[ —
— -6 0 ~
\ o 3354 ozg - /
\ I o~ /
gl i
o {1710 0 ||~
- | 1@ || -
sl WL -
W Q I Qf
NIERE @ o = || /
I I
o~ || /s
\\ = [ol oe |, ~ /
0w | —ll | ™
/7 \\
, STEP3

AR

4.Install spare parts on
backside steam room body. They
are movable shower holder,
towel handrail, glass shelf &
soap box. This step requires 2
people, one hold the part in
front and another one tighten
the screws at back side. Soap
box makes up by one bottom shelf
& 2pcs boxes, pls. lock the
bottom shelf on ready screw
holes first, and put the boxes
on the bottom shelf later.

5.PIs. carry the backside body
to the top of bathtub and lock
screws on ready screws holes on
their contact surface behind

the steam room body. In this way,
itis fixed.

B \s-608P

3.PIs. lock the big blue
coated glass next to the
aluminum columns per ready
screws holes by factory .
After the blue coated glass
installation, pls. put
decorated beads on
corresponding place of
aluminum columns .

A

e
s s
I —— v

(1) The electrical pitch

SANIT AR Y [WARE |

Press (()) pitch can open the machine, the temperature
is the room temperature. The time will show 30m. At the same
time, it will open the ceiling lamp.Press o> again will close all the
functions. (After the closure of the machine, the water case

will drainfor 2 minutes)

(2) The application of the back lamp
Press[.&.],the sidelight is on. Press= again, the ceiling
lamp is out, pressr= a third press, the sidelight is out too.

3) The steam function

Press| % |,startup the steam function, the water case
will pump water automati-cally. After 60minutes or so, it
will generate steam. (When the water case is lack ofwater,
the controller will replenish automatically)

(4) The air draft function

Under the condition of turnning on, pres$ | can start

up air draft function, pressagain will colse it.
(5) The setting of time or temperature
1. Press pitch can adjust the time from 1-99.

2. Press

30-60 .

pitch can adjust the temperature from

WS-608P |4



SANITAR Y [WARE |

W
B8 < B8:

H[-B
et e
[ |
<y

© N =

© N @ o @

(1) Time adjustment pitch+ 5 Temperature adjustment pitch-

@ Temperature adjustment pitch+ @ Fan Pitch

@ Steam Pitch

Main Cock Pitch

@ CeilingLamp/Back Lamp pitch

@ Time adjustment pitch-

(NN \\/S-GOSP

SANITARY[WARE ]

6.Put the blue clear
glass with one side
aluminum pole on the
bathtub next to the
back side blue coated
glass , and lock them [l
together by lock N
screws on these 2
aluminum poles .2
sides blue clear
glass with one side
aluminum pole
installation way is
the same .

4

/ ST4X20

7_After the fixed door
installation, pls. lock 2pcs
aluminum poles base on bathtub
per ready screw holes. Later, pls.
insert the aluminum poles with
hinges into the base. At the same
time, pls. insert 2 sides fixed
door glass into the groove of
these aluminum poles first & put
glass glue into the groove later.

WS-608P m

put glass glue here %



SANITARY[WARE SANITARY[WARE ]

© DRAWING OF ELECTRICITY CONNECTION
¢c|ean system

ﬂj steam outlet

M6 x 25 :| >

— vy water inlet

8_PlIs. put ceiling on the

steam room body and make Power ==
sure the ceiling is not . A

over the steam room body
.Then lock the screws as
picture , and fix the room
body & ceiling . One 0
person should hold the
ceiling inside the room .

STEPS 0

L ) o=
9.Install strips & magnetic strip on t4
left , right & bottom side of 2pcs
movable glass door . Carry the glass door 4
to the top of bathtub .Loose the i
protruding hinge part , and lock the S
~1glass inside the hinge per ready glass O
hole .After the movable door s —_— é ﬁ
installation , pls. install door handle 9
on doors .. g COﬂthI g g
— panel
rp
~ ﬂ/ Nstrip B OO
4&53 Do
| Light  Fan =
) (ACI2V) (DC12V)
1
UM \s-608P STEP9 Strip A ws-60sP I



SANITARY[WARE

() DRAWING OF WATER CONNECTION
Asthe “@” “® from the picture,please make the

connection according to the serial number v1,v2,etc.

o

Top shower

Switch
vave

Coldhot
Wwater switch

;

a

O 0 0

Cold water connection

z 0
c £
o 14,2 |0 0
£ = Nozzle . Foot
Nozzle & o) — | massage Nozzle
°. Waer fdl
22
[~
E4Y L
E‘g Steam generator
\b ,
clean system 7

¢steam outlet

K& ws-6o0sp

SANITAR Y [WARE ]

v = e\

10.After the steam room installation, pls. install the
rest spare parts. Such as movable shower, foot massage

11_Pls. put glass glue on fixed door bottom outside &
inside and inside top part .

12_.Finish cable & water pipe connection. (pls. kindly
check the attached picture )

WS-608P m



